@

8

@

10

AGEE > DEERO

452352 +31-64.2x 2.1
=14592-134.82=11.1
252+0.7-368x0.3+4.6
=36-24=12
42x03+06%x12-09x7
=126+72-6.3
=198-6.3=135
08x6+7x04-13x0.2
=48+28-26=5

4. TxUT:HETS

(Bx )@ 2012 @314 @01
4 6310 5 138 (6 306
74300 @ 380 (9 125
10 2468

(1) 4% 397 -4 % 128+4 % 289~ 4 x 55

2

=4x (397 - 128+ 289 -55) =2012
6.28%x23+942% 1.8
=314x2x23+314x3x18
=3.14% (4.6 +54) =314

) 1234 x0.25-123%25

=1234x25-123%25
= (1234 -12.3) x25=0.1

) 6.34 x 524 +24.7 x 634 + 2.29 x 634

CORFICIEALEF.
=0.34 %524 +24.7 x6.34 x 10 + 2.29 x 6.}4 x 100
6315 L HITAEEBL E 7
=0.34 x 524 + 247 x 6.34 + 229 % 6.34
=0.34 x (524 + 247 + 229)
i LA L TLET
=06.34 x1000= 6340

) 23%x33-023%x1.2+23x2.82

=23%x33-23%012+23%x2.82
=23%x(33-0.12+282) =138

1 432%x34-034x75+543%34

=432x34-34x0.75+543x 34
=34x% (4.32-0.75+543) =30.6

) A3 x25+84x75-T5x41

FFBTELHHLBHFTHILICHALET
=43 %25+ (84-41) x75
=43x25+43%x75

45

10

=43 x (25+75)
=43x100=4300

8 19x97+260%x19-103x19

=19x97+26x19-103%19
=19x (97 +26-103) =380

 1x2x1.25+3x4x125+5x6x1.25+7x8x1.25

125 L 25 I LTV ADT, 2x125=25TF L g
=1x25+3%x2x25+5%x3%x25+7x4x25
=25x(1+6+15+28)

=25%x50=125

24.68% 17 -24.68 %14 -12.34 x4
=24.68%17-24.68x14-24.68x2
=24.68x% (17-14-2) =24.68

Gyl > S EDERIQR) oo P.85
(Ei)®s @% @@

®35  ® 2600 @12
® 10010 © 206 10 8102

Py

qp)

2

J21755 77

9 8x2.75+ IT -2.75x% v

34xr+26x§‘%+26xi

11.85+3.14+1333+3.14-9.48 + 3.14

= (11.85+13.33-948) +3.14=5

4 .54 2 .1 .51.,4
55+t 7 *l54t55 723

4.5 2 54 ¥4

=21 %5577 X5
54 (4 .2 .5

=%X(ﬁ+ 7t14
)

5

5514

-4
11

1

=8x2.75x%—2.75x%
-(8-1) ><2.75x%=11

7x32+13.16x32+4.16 %68+ 16 x 68
=(7+13.16) x32+ (4.16 +16) x 68
=20.16 x (32+68) =2016

0 025x37+0.75x11+0.75%x19+0.25% 13

=025x%(37+13) +0.75x (11 +19)
=(.25x50+0.75%x30=35

) 27T%x26+26%25+25%24+24 %27

=26x% (27+25) +24 x (25+27)

=26x52+24x52

= (26+24) x52=2600
1

/ _/1_
=X op

25 25



10

=34 x (%4»24—5) +26 % (%+%)

=344+ 26x 4= (34+26) x-L- =12
Tx11x39+11x13%x14+7%x13%x55
=7x11x13x3+11x13x7x2+7x13x11x5
=7x11x13x (3+2+5) =10010

(1 1,1 .1 .11

1
D +—3—+T+‘5- F+7‘+§) x 120

=%x120+%x120+%—x120+—é~x120

.l_ _L _L «
+ G x 120+ 7 x 120+ 3 x 120

=(50+40+30+24+20+17%+15=206%

4+ (1.234%3140+65.43x 314 +32.1 x

314) +3.14

=4+1.234 x 3140 + 3.14 + 65.43 x 314 + 3.14
+32.1x314+3.14

=4+1.234x1000 +65.43 x 100+ 32.1 x 10

=4+1234+ 6543 +321 =8102

FESLE » 3.14 THERER -eeeere P.86
D314 @942 @ 628

4314 ® 314 @® 314
7 314 @® 2198 (@ 3.14
10 314

&1

€2

3

4 )

3.14x59+3.14 x41

=3.14x (59+41)
=3.14x100=314
53x3.14-23x%x3.14

=3.14x (5.3-2.3)
=3.14x3=942
3.14%x337+3.14%x9.12+751x3.14
=3.14x% (3.37+9.12+751)
=3.14x20=62.8
3.14x6+3.14x4

=3.14x (6+4)

=3.14x10=314
6x6x314+8x8x3.14
=(36+64) x3.14=314
36x3.14+25x%x3.14-5.1x3.14
=3.14x (36+25-5.1) =3.14
24x314+3x1256+8x25.12
=24%x314+12x3.14+64%3.14
=314x (24+12+64) =314

46

8 %X(JXQXB.IAI—%—XSxSXB.I/I
=3.14x7=21.98

9 3.14x0.25+9.5x0.314-0.1 x6.28
=3.14x025+3.14%0.95-3.14%0.2
=3.14x (0.25+0.95-0.2) =3.14

10 3.14x25-314x05-6.28%5
=314x25-314%x5-3.14x2x%x5
=314x(25-5-10) =314

Aﬁﬁﬂg )gﬂgu ................................. P.87
(22 7 @ 1225 @ 2704

4196 (5 12500 ® 4995
71964 (8 19955 9 70
10 60

1 10+11+12+13+14+15
(OB + ke D) x WE 205 OO AKX LD
=(10+15) x6+2
=25%x3=75
2) 1+2+3+--+48+49
=(1+49) x49+2=1225
3 1+3+5+7+---+101+103
25 OWZ TV B0 5 EOMEIL,
(103-1) +2+1=52({)
=(1+103) x52+2=2704
4, 7+14+21+28+35+42+49
=(7+49) x7+2=196
5 2247 + 2411 + 2500 + 2589 + 2753
= (2247 + 2753) + (2411 + 2589) + 2500
=5000 + 5000 + 2500 = 12500
6 123+ 234+ 345+456 + 567 + 678 + 789 + 890
+901+12
= (123+567) + (234 +456) + (678 +12) +
(789+901) + 345+ 890
=690+ 690 + 690 + 1690 + 1235 = 4995
7) 235+ 238+ 241 + 244 + 247 + 250 + 253 + 256
= (235+256) x8+2=1964
8 1991 +1992+ 1993+ 1994 + 1995 + 1996
+1997 + 1998 + 1999 + 2000
= (1991 +2000) x 10 +2=19955
9 0.87+1.88+289+39+491+9.09+10.1
+11.11+1212+13.13
=(0.87+13.13) + (1.88+12.12)



ot (491+9.09) @ -SRI

=114x5—70 - el
35BianB . T 873216476
10 197+ 2+ 3 +4q7 +537 + 677 +74] , oLl 1
L (B shtantart et et
*8‘%*9%“0%% 10 140 88" 154l 938 3140 1
TERNORELSL =95 58 BRI T T4 TIXT7
= (1fp +1019) x10+2 L1
12x10+2 1720
Tlex i 1oL _NYL (LN
=120+2=60 ‘?"i(?‘&)*(a‘ﬁ)
" *(T‘i‘zo)l
VA il D GPET(T) e P.88 1 (l 1) [x9° 3
=—X — g = G =—
e ) i = F 32720 ,3><2020
1,'5m 2 'R 3 11 6 L.,_L _1_ _1_ L
o St eI T30 A
282 @3 @b
st ©n ©7 n

2
s 242 '
7 513 8 0 9 1

2 RSN

43 _1-1_6
®mER 7°7
(6 1\, (7 _1).(8 11,79 _1) | @3x(d+lslitesle
D (2-5)+E-7) (F-5) (57 ;N SRS A7 81 “o13)
1 Ll 1
+(R2- 5 ~(5+ 9+ artart o)
_6. 1,7 1.8 1.9 1,10 1 ¢+ =(1+leladed)
566 77 88979710 S
GrREASH) LR LA b D E 1SR ) 7 o (L1 01 1 1
i i o * (3+o+z s+
_?+1+1+1+ 10 =1_L=_2_‘£2_
T e Y 243 243
010700 @ [ L) x24
2 5, 7 9 11 1x6 6><10 [0x 14
| Tx9 7916 T6x25 " 25 %36 Tl n.,.-;::fzn',:i-s- CUERBLET
=( 9! 1!y (1()‘ L —14x( 1 1 ) s B
4x 9, 4, <9t 9x16, 9,x16/ l4><28 28 x 42 42><56 12
( 25' 16' ) ( 36' 26" ) T R T UOMRTHA S LIEN LT
6% 25, 16,x25) " \25x 36, 25,x36/ 119 (1 L1
_1 \1 e %; 3§+ 1 =Tﬁ“5‘x(2x3‘3x5”ox7)
! 2536 M4'x12° (1 1 )
=_1__L=_2_ T ><1<1,><5 (7_3><7_ZX3><7
173679 3 1
Al 1101 ] =5 l2x3 3><5~5><7
3 6 T1z720 730 " 12 gl
cof Lo = SN 7 T3x7 2x3%7
_(2 %+(% %)Jr(% 5\)+(%? %V) _ 3 5x7-2x7-2x3-(2x3%x5-2x5-5)
__1_) =5 2x3X5%7
67 5X7-2Xx7-2x3=3x7-2x3=3x5
CNTNDGBELODI D AL 53 2x3X5-2x5-5=2x3x5-3x5=3x5% D,
11 _5 =0
2714

47



1 i iy 1. ¢1 1
7X(_3x4 4x5)*2x(4x5 5><6)
( 1 1 .1 1 .1
1x2 2x3 2x3 3x4 3x4

+

X

L
2

1 1 1
4><5+4XS_5><6)

ik I 1 \_1.,7_7
=2 X(IXZ 5x6)‘ 2 15730
Aﬁﬁﬂg ;;J\zi ................................. P.90
CEza )@y @32 @124
42 (58 6 2018
7999 (8 4268 @ 100.85
10 2017
Yl

1 15%x4.14+15%0.186

=15x414+1.5x%1.86
=1.5%(4.14+1.86) =15x6=9

2) 1.32x4+06x432

=432x4+6x4.32
=(4+6)x4.32=10x4.32=43.2

0124 x018+124%x8+1.24 %2
=124x0.18+124 x0.8+124 x 0.02
=124x(0.18 +0.8+0.02) =124 x1=124
) 28x1.7+028x35+28x0.48
=28x17+28%x35+28x%x4.8
=28x(1.7+35+4.8)=28x10=28
0 3.2x098+32%x0.172-0.32x 2
=32x098+32x1.72-32x0.2
=32x(098+1.72-0.2) =32x25=8

16 40x100.9 +600 % 10.09 - 8000 x 1.009

=4 %1009 +6x 1009 - 8% 1009
=(4+6-8) x1009=2018

7 99.9x3.65+9.99 x 54.2 +0.999 x 93

=99.9x 3.65+99.9x 5.42 +99.9 x 0.93

=99.9% (3.65+542+0.93)

=99.9x10=999

0 21.34%x2.9-213.4x0.13+0.2134 x 230 -

2.134%x 37

=21.34x29-21.34%x1.3+21.34x2.3-
21.34x 3.7

=2134%(29-13+23-3.7)

=21.34x0.2=4.268

9.5x2.017 +4.7x20.17 - (3-0.983) x6.5

=90.5x2.017+4.7%x20.17-2.017x 6.5

=95x2017+47x2.017-2.017%x6.5

=(95+47-6.5) x2.017

=50x2.017=100.85

49

10

20.17 %500+ 201.7 x 20 - 4034 x 3
=2017x5+2017x2-2017x2x3
=2017x (5+2-6) =2017x1=2017

S A NN SN
(5}, =mosf

JREAGE > SR DEFEI (D) «ooveveeereees PO
1 124518 2 408
3 AWFRI48%57 4 365

‘5 1H3I5 4657408

6 2113358 70 14055
8 2152945 9 25677

10 5075

1

SWEI27 533180 = CI#

1 =604, 14-=608 Lb, BB d L,
(3x60) x60+27 x60 + 31

=60x (180+27) +31

=12420+ 31 =12451 (§»)

S
Il
e

%— % 60F5 = 40§

LRI T9

— ul— wle wlrs
t:‘,
I

= X 2410 [ = 481N ] = 415 [148 55

(921

 0.6MERTIZC1 T,

0.615 [H] = 0.6 x 6073 = 3655

10000045 = [TH IR 13y

100000 + 60 = 16662 % 1 40

1666 +60 =272 % 1 46

271+24=15H% 03

L0, 1H3W4657408

1 H 10555 — 1218 3243

= 34525 — 121K [#1 3255

= 33ME 6550 — 1215 1] 3277

=211 33%5

2.6 8] + CIRF )50 = 4IRF R 165

0.6 = 0.6 x 6055 = 3655

CIRE R )25 = 4RE [ 1655 — 205 1 365
= 3IRFIN 762 — 2R 18] 3655
= 1§ 14055

SIE1153 2.7 [ i (X LRI 5 T

2.7 ] = 21§ R 4255

SIE1145 — 21N 4255



=4W57155 — 2054255

= 21862955

9) LI RI30%- 158 + M5 MI4550458 =
FFL TS0 eBLET
L5 113053 158 + 205 4553458
= 30517553608
— N5 165
= (4% 60+ 16) 4 = 25657

10 24511 —%I | — 230 4757208 = (15
2511 =2H + g5 x 24UE
= 21124%
107 |

108”'“' Tog M
_ __2_ :
=1H- 108 I =1H 5 1

=1n-§x609r=1||—%
-1||—153 5 =11 - 135208
O3 IAT 532085 = 1 1 — 1257408 X 1.

107 20 E:
2—0 ~“TogH -~ — 235 #4795 20%

=(2-1-1DH+(24+13+12) 5+ (20 +40) ¥

=50%>

J\ﬁﬂﬂﬁ » H%FE?U)E‘I-%‘Z ................. P.92
1 1515 20 1770
38 4) SIEI20557 1280
5 5411 6 157248
13 "
Lgphim @) 488

9 25141575940
10 1605 #4455

BER
1) 9RERIL55) 5=DIIHIJD
WA & & A5 ChilS )L
O =5+ 15%5

= L8[ + 355
= 1) + 0.8 x 6055 + 375
= 1IN + 4845 + 3%
= 1§ + 5145 = 1§51 45
F720%, W11 Lt,J-t)‘Lf-s'
(9% 602>+ 15%)) +
=5554r+5 1119;‘= LIRS 155
) L T1RER2455 2 B e B3k,
24 x 60 x 60+ 11 x 60 x 60 + 24 x 60
=127440 (§)

LU 1182455 + 728
=127440+72=1770

) 34401280 x [ = 41§ 11133453645

AN RI335F36F % I 5 &
4% 60%60+33x60+36=16416(f)
3457128 = (34 X 60+ 12) £ = 20528 L )
C1=16416+2052=8
111205 I.‘%Ml6;‘0)%t;tSILfHHJD’;j‘D@T“TO
L STENBEHIsL ¥
(24 + 2) W1 = 25051 + T 1Y
LI 14155 = 1014 = 10057 + 157
=100%7 +608 LY,
LHZHERIAL5 X - = 2515 I1005601 x 1
= 5511204 }12f/
S II2457 x 240 = 111
SIFI21%5 210 = 120085 HIS760%
24—t a0 AL
=50H + 961§ [H =54 H
LY+ L5 =52 % 0 128
LB EIOOLCOE 2 FT.
1008 x52 + 128 = LIE 135
5 IR X 52 = TG 12574885
508 = 1 R12% ‘48& 52
(508 = 7257488 +
(1518 = 43681 + 52 sw = 157248
(9IREIIST 25 — CIRE ) = 6= 1] 2275
OWEII5 15> — CIWE I = LHF 2255 % 6
)= OWE 514 — QUG 1245

()= 111395 = 1505

<

01705 x 5= 5045128 = [ fy

0.85I 1] = 5075 1245
=51 -50%+12%
=50%60% - 504128
=48

SIS 558 + 2. 2415 1] - 4%% I

— IO O

SIS IS5 + 205 14,45 — ANEII3T5%
— SIS + 2145524 15

— 4IFIRI375 \30?J M1 559

1205 11245 x F + QIEII325 = 1%
= RIS

1205 (112455 ><— + Q3255 + 1L

3
= L0WFII20%5 + 8IS I35 x -



= 10WF 2075 + 6 12455 = 161 W44

Kﬁﬂﬂﬂ P P.93

( Bz )@ 150cm? 2 780cm?
3 0.00898m?* @) 1.3L
5 123mL 6 28428cm?
7 4380dL 8 1170cm?®
9 280dL 10 9.856L

BEh
1) 6.75L +45=Jcm?®
1L—10000m3

10

- (3m?*+ 1000+ 2L)

6.75x1000cm? =45

=6750cm?® +45=150cm?

5dL +0.3L-20mL=[Jcm?

ImL=1cm?

500cm?® + 300cm® - 20cm?® = 780cm?

1.2L - 720cm?® + 85dL =[Im?®
Im*=1000000cm?, 1L=0.001m?
0.0012m*-0.00072m? +0.0085m* = 0.00898m?*
25cm? x (0.02m +50cm) =[]L

25em? x (2ecm +50cm) =25cm? x52¢m
=1300cm®=1.3L

+25-77cm?*=ImL
(3x1000000mL +1000+2000mL) +25-77mL
= (3000mL +2000mL) +25-77mL
=5000mL +25-77mL

=200mL -77mL =123mL

0.0469m* - 8600cm® - 9872000mm®* =[_Jem?
46900cm?® —8600cm?® — 9872cm? = 28428cm*

0 0.035m? x 43 - 1125L +580dL =[1dL

350dL x 43 -11250dL +580dL = 4380dL
24L +145¢cc = Clem?® + 1.25dL =0.0015m?
lcc=1cm?
24%1000cm?®+145¢m*~[Jem?®+1.25x100cm’
=0.0015x1000000cm?

2400cm®+145¢cm® = [Clem®+125¢m®=1500cm?®
2670cm® - [Jem® =1500cm?®

[1=2670cm® - 1500cm?®

[1=1170cm?®
21.3L-0.0025m*+61200cm?*-52000mL=]IdL
213dL - 25dL +612dL - 520dL = 280dL
4.5kL +180-150dL - 12cm?®*x 12=]L
4500L =180 - I5L - 0.012L x 12

=25L - 15L -0.144L =9.856L

51

TDE[ENZDEE P4

BZ )Q) 5#75m 2) 1Fi21km
3 Biilbm 4 I¥dil.2km
B 1Fi252km (6 Fi7.5m
D 3% (8 4r4i1200m
9 f}‘jﬂé%m 10 75m
ﬁg"fﬁ
IR E4.5kmiZ, MM T A
NEICL TR LRSI Z N2 T EETY
1945 x TGQO‘” 2
=60 75& 0, 4r#75m

2 5p#i350m =Mk Jkm
55350 m = I 4350 x 60m
=E#21000m = 1§ 4i21km

3 s 4km = i Im

é%%%%g=54+36=L5;n,

”J HkmZ B dmics b L &L, 36THY X7
4. 7 M20m o S 3 km T3,
51‘55%20 m = 13420 x 60m
=I#1200m =1 i1.2km
5 PBl7Tmods i ZRdTiEkmTY,
7x36=252%1, WK#i25.2km
6 Iyi27km =3k Im
INFdi27km = fi27 + 3.6m = F4i7.5m
I dikm—dima T, 36Thh FT
7 BHui2dmix, WE30kmO T3 D0
Frui25m = IR #i25 x 60 x 60m
= I$3490km
90 +30=3(%)
8 Ipui72kmiz i ImT3 .
72000+60=1200% v, 2r#i1200m
9 WFH0.096kmiz, BiimTy.

_. 96 .36_2 sl
0.096+3.6= 1000~ 10 7‘-J:) f}ﬂ;75m

270k m Tk % Hriesiid, TR INCCImiE
AET,

INEE270km = #4270 + 3.6m

=75 m— 1 7omitEEr

F41.5m

10

Aﬁﬁﬂg )E*ﬁ] ............................. P.95

( =z )1 250 2 50000cm? (3) 2m?
4 1250m (5 7.2ha 6 20ha
7 2293a 8 6000%7% 9 2ha

10 7200m?



RS

10

4m?+160cm?
Im?=10000cm?
40000cm? = 160cm? = 250
[ CHpLTHZ E NI R B 9
Sm*iEfifem?TY A%
5m?=5x10000cm?=50000cm?
40000cm?®50% X[ Im*T3,
40000 x 0.5+ 10000 = 2(m?)
625m? +50cm =[Im

W zZHZ Tl LET
625+0.5=1250(m)

200m x 360m =[Jha
lha=10000m?* & b,

200m x 360m =72000m?=7.2ha
500cm? x 4000000 =Tha
500cm? x 4000000 = 5% 40000m?
=200000m?=20ha
584a—0.352ha—-27m*=a
lha=100a, la=100m?
BRAEATEVWTWEODT, TXRTCalchbL Tt
LEF

58.4a—10.352x 100a— 27 + 100a
=584a—-35.2a—-0.27a=22.93a
3km2i500m* o ffic ) £9,
3km?=3x1000x1000m?

3x1000 % 1000 =+ 500 = 6000 (1)

8ha +20a - 62000m?=[Jha
8ha+20+100ha -62000 + 10000ha = 2ha
12km x 30cm + 0.5=Jm?

Wi 2michBLTiltEL 3

12000m % 0.3m +0.5=7200m?

)\ﬁﬂﬁﬁ » Eﬁi G Y LT T A IO  Tr I T T es P.96
(( 3z )@ 2250cm? 2) 3400m? (3) 374.5a
4 683ha 5 80cm 6 7.04
7 560m* (8 32a 9 500m?
10 900m?*
BRED
1 150cm?+0.21m?*="Jcm?
HKZDemlhbe T
=150cm? +0.21 x 10000cm?

=150cm? +2100cm? = 2250cm?
24000cm? + 1.736a + 0.3224ha =[1m?
24m?+173.6m?* + 3224m* = 3400m?*
380000000cm? —0.27ha +2150m*=la

52

380a—27a+21.5a=2374.5a

4. 0.12km?*-520a+300m?=[lha
12ha—-5.2ha +0.03ha =6.83ha

5 24cm x0.6m +[Jem x 0.32m = 0.4m?

[Jem x0.32m =0.4m? - 0.24m x 0.6m
Cem=0.256m? +0.32m
Clem =0.8m =80cm

6 (222m?+3280cm?) +3.2m*=[]
3280cm?=0.328m* & 1,
[1=22528m? + 3.2m?

[1=7.04
7 0.05ha+0.55a +50000cm?=[Jm?
KZOMASTRTOHDETT

=0.05% 10000m? + 0.55 % 100m?
+50000 + 10000m*
=500m? +55m? + 5m? = 560m?

8) 042ha—65a + %ha —2000m? & fifaT

42a-65a+75a—20a=32a
9 1200cm? x 2500 +0.18km? + 900 = [Im?
0.12m? x 2500 +180000m? + 900 = 500m?*

10 075km>< 0 -1750m?x 1.2=[1m?*

750000m? x m— -1750m*x 1.2
=3000m? - 2100m? = 900m?

LGiE > RE - BT
-1 203kg @ 770, (1700

3 18 4 250g 5 19955kg
6 109m 7 295kg 8 36.3kg
9 261m 10 432.1m

BRER
1 87000g - 34kg +0.15¢=kg
87kg—34kg+150kg =203kg
2, 0.7m =ZJem =4Jmm
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